XYZ,=95.0443 , 100.0, 108.89 B

A=@-a)Y
B=(b-b)Y
a=agq [x/y]

b = byo [2Y]
a=1
byo=-0,4

n = D65

Gme

YAB_77;, D65

Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral

Yhe 510_770

Rine 570_770
Gme 470_570
Bme 380_510
R, 570_440

-40

range:

Gy 380570
M, 570_470
G 520_570

1-000130-LO

BE951-5A 2




XYZ,=96.4228 ,100.0,82.49 g
A=@-a)Y
B=(b-byY

a=ag[x/y]

b =byo [2y] Go
a=1

bpo=-04  Cme
n = D50 )

YAB_77;D50 40

Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470 T-40
R, 570_440 G 520_570

Bme

1-000130-LO BE951-5A 2



XYZ,=99.2057 ,100.0,76.07 B
A=@-a)Y
B=(b-byY
a=agq [x/y]

b =Dy [2Y] G
ay=1

by = —0,4 Gne
n=P45 ,

YAB_77;P45 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:

Rine570_770 Y¥pe 510_770 Bme
Gme470_570 G, 380 570
Bme 380_510 M, 570_470 T-40

R, 570_440 G 520_570

1-000130-LO BE951-5A 2



XYZ,~109.849 ,100.0,35.58 g
A=@-a)Y
B=(b-b)Y
a=agq [x/y]
b = byo [2Y]
a=1
byo=-0,4
n=A00

YAB_77;A00 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470
R, 570_440 G 520_570

1-000130-LO BE951-5A 2



XYZ,~=100.001, 100.0, 100.0 B
A=@-a)Y Yme
B=(b-b)Y
a=ag[x/y]

b = byo [2Y]

a=1 Gme
byo=-0,4
n=EO00
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YAB_77;E00 40
Optimal colours (0);
6 of maximum (m) Cag;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570

Bme 380_510 M, 570_470 T Bige

R, 570_440 G 520_570

1-000130-LO

BE951-5A 2




XYZ,=98.0718 , 100.0, 118.22 Ygne
A=(@-a)Y
B=(b-b)Y
a=ag[x/y]
b=bylh] g
a=1

byo=-0,4

n = Co00 )

YAB_77;C00 40

Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470
R, 570_440 G 520_570

1-000130-LO

BE951-5A 2




XYZ,~=102.067 , 100.0, 81.06
A=@-a)Y

B=(b-byY
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b = byo [2Y] G,
a=1

byo=-04  Cme
n=P00 |

YAB_77;P00 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470
R, 570_440 G 520_570

1-000130-LO

BE951-5A 2




XYZ,=98.8314 , 100.0, 123.0
A=@-a)Y
B=(b-byY
a=ag[x/y]
b=bylzyl  Gpe
a=1

byo=-0,4

n = Q00 )

YAB_77;Qo0 40

Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470
R, 570_440 G 520_570

1-000130-LO

me
BE951-5A 2



